ty bAE
| B L

FENDRIL Bressm &

EE I €Y1 XZz8htE3

eg;‘:\%

A

‘;g\: A

vk 5"4
w}éfﬂ =+
ﬁ«;% —>
rel Elén
S t3

FENVRIL
ENVERIL
3 VEH’&SOL:éb‘dm;f
TUR50MmMD N IFTHETEE | xBmIzER

HAXDNRENIENY RIL(2APR)Z
Lobb eiionftis s

NV RIL

é{

@iaE

No.5010A
L H1XEDENYEY

8

=%7

BEtk 28mm E
QL5 R—

[$+R]
cHAXEDLEIERE
s BIME 25mm~R KR 75mm £ TORBIIHEBHBE
(#4&E]
A : EiE
R =KL INA R
BH N1 AH
(EREE) EX UL
(EIEEES]
1,500 [Eg% / 7 ATF
i B2ty YA X/AE | @8 (i3 | JAN
5010A v b 25mmx75mm| 8,980 |500602
®5010A-CD |+ 2—FKU b 6mm 900/ |500626
@5010A-K |1 REH 2¥ 148 1,200 [500619
(3®5010A-0P1| 2 — KV VikSHRY M5x5 72/
@5010A-0P2| E/\> Kb 150 1
(55010A-0P3 | EHIEH R Y M5x5 72/

Oty MMEI3A/BERNE 6 A @IAN I— FTF6HDHRT (4962660)

et K9-ZA

EEE=AKmIFETRER 722-47
TEL 0794-82-0200 FAX 0120-0794-83




270254 K (LED) IR A AN (AN
75mm Xtity o BE BN ICcH &=

75 3
N @@@a&@@n

L . 10
A7 oPme O—fﬂQ?k?I‘?l @& K
@B EASIR 28mm B

ty bAE (&)
A XEHLEIEFRE
1 ENVRINEBD B x5 « B/IME 25mm~BKE 75mm T TONRBIFHEHRBE
2 AN RIL mressn & (j;i] —
- e  w3Ee
LETHHI X E=EaHES U B—EUIL IR
% 0 A 27 BED
f e kA
e x 2 A
5 N + [ IEElEEE)
*{%ﬁ; i > 1,500 [ElER / AT
P EES
i o) ‘
' LLE % A X/ RE | Mg (#%5) | JAN
5010AT AV 25mmx75mm 11,780M |500671
5010A-CD | £ &—FU L 6mm 900 |500626
@36TK BESH 24148 2,180 (366017
] (35010A-0P1| £ 2 — RV ILIL& R M5x5 72/M
HAENZ B BNV R @5010A-0P2| 2N FIL 150 g
ENVEL (55010A-OP3| BH1L&H %Y M5x5 72/m

VED%soc:ﬁbt‘maf Oty MVEI3A/BIIE 6 A @IAN I— R 6 HiDHHRT (4962660)

TVRS0MMD BB T HATRE | xBBmIEER

- PN EER=ATHIFREIRIEH 722-47
R 2 o A x RSN —
[ A mm ’ '.IA TEL 0794-82-0200 FAX 0120-0794-83



	5010A
	5010AT

